Efficiency vs dr

—_— DQM mkFlt TT_JanUpdate-noErr
D8M mkFit_TT_JanUpdate-statErr

M_mkFit_TT_JanUpdate- systErr

I

o 1072 10"

[ Efficiency vs dr (track,jet) |

B 0.4 T T T

070.09F i

= :

¥

z 0.08

£20.07

>

20.06

@

o

£ 0.05]

©
0.04

0.03

0.02

0.0
+OF

Ratio

0.95-3 . S
10~ 1072

1
AR(TP, jét)

Efficiency vs pu

0.2 - - T T T T T
FROET) SO NS OSSNSO S

PU

> E

> Foo : : : : : :
O T S S S S A
[} £ : : : : : :
S A s S
= o : : : : : :

Ratio

e
+_'
%|—.—

1
TP min AR

-1




	Contents
	Page 1


